Impressions of Dialog Behaviors across Cultures: Questionnaire
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c. What factors affected your judgments?

d. How hard was it to make these judgments? Why?

e. Any comments?



Experiment 2

a. Please write two or
three adjectives
describing the feeling
(sad, angry, happy,
surprise, scared,
disgusted, etc.)
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e. What factors affected your judgments?

f. How hard was it to make these judgments? Why?

gl1.(if your native language is not Arabic) Do you have any general opinions about the way that Arabic speakers talk?

g2. (if your native language is Arabic) Do you have any general thoughts about the way that non-Arabs perceive
or mis-perceive the speech patterns of the Arabic language?

h. Any comments?



Experiment 3
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e. What factors affected your judgments?

f. How hard was it to make these judgments? Why?

g. Any comments?



